/a"-2" | DN8-DN50 | CLASS 2500

High Pressure Floating Ball 3 Piece

Valve dimensions

l

@ Ball port

T

®» HABONIM )O:;

TxL

Preparation
for actuation

Ve - 3 19"
without nut with nut

Stem flats
show valve
ball position

<N thread

DN8 mm 1110 7780 2060 2700 3800 6950 4600 550 ' UNF 700 179.00 M5x8 3400 0.00 160 26
Z8 inch 044 306 081 1.06 150 274 181 0.22 028 705 134 0.00 3500 30
BWOEE mm 1110 7780 2060 2700/ 3800 6950 4600 550 ' UNF 7001 179.00 M5x8 3400 0.00 160 43
¥s" inch 044 306 081 1.06 150 274 181 0.22 028 705 134 0.00 350 50
SRS mm 1110 7780 2060 2700/ 3800 6950 4600 550 ' UNF 700 179.00 M5x8 3400 0.00 160 69
" inch 044 306 081 1.06 150 274 181 0.22 028 705 134 0.00 3500 80
BPHEE mm 1430 8500 2460 2940/ 4040 7900 4800 550 ' UNF 700 179.00 M5x8 3400 15.00 240 10
¥a" inch 056/ 335 097 116 159 311 189 022 028 705 134 059 530 12
DIPERS mm 2060 10790 3180 3820 5570 9800 6400  7.54 6" UNF 7.00 300.00 M5x8 42.00 24.00 4.50 28
1" inch 0.81 4.25 1.25 150 219 386 252 030 028 1181 165 094 9.90 32
DLEPES mm 25400 12070 4120 3820 6030 10900 6870  7.54 6" UNF 7.00 300.00 M58 42.00 24.00 540 49
14" inch 1.000 475 1.62 150 237 429 270 030 028 11.81 165 094 1190 57
DHELES mm 3180 131.20 4840 5000 7280 12800 81.10 871 96" UNF 10.00 400.00 M6x8 40001 36.00 9.50 69
Lz inch 125 517 1.91 197 287 504 319 034 039 1575 157 142 2090 80
DLELEE mm 3820 14290 5630 5500 77.80 14500 81.10 871 916" UNF 10.00 400.00 V68 5800/ 40.00/ 13.10/ 102
2" inch 150, 563 222 217 306 571 319 034 039 1575 228 157 2890 118

122 | FBDHABONIM

| HIGH PRESSURE VALVES




o i
1 - -
/,"-2" | DN8-DN50 | CLASS 2500 1

High Pressure Floating Ball 3 Piece S

Components & materials

Material specification

Acc. Ordering Code 1 Disc spring S. Steel 2

Acc. Ordering Code 2 Stem nut S. Steel 1

Acc. Ordering Code 1 Locking clip S. Steel 1
Stem Acc. Ordering Code 1 Handle S. Steel 1
Seat Acc. Ordering Code 2 Serrated washer S. Steel 1
Inner seal Acc. Ordering Code 2 Handle nut S. Steel 1
Outer seal Acc. Ordering Code 2 Sleeve PVC 1
Stem thrust seal PEEK, CF PEEK, PCTFE 1 Body bolt S. Steel 12-16
Anti-abrasion ring PEEK, CF PEEK, PCTFE 1 Anti static spring S. Steel 1
Stop pin S. Steel 1 Anti static plunger S. Steel 1
Stem seal CF PTFE, TFM 1 Tag (not shown) S. Steel 1
Follower S. Steel 1 * Repair kit components
Slide bearing S. Steel 1

Description

Material specification

19

Qty.

HIGH PRESSURE VALVES | ¢(E)HABONIM | 123




214"-8" | DN65-DN200 | CLASS 1500

High Pressure Floating Ball 3 Piece

Valve dimensions
|

2 Ball port

4

¢ HABONIM );

E

o

Preparation
fpr actuation

PN

Stem groove
shows valve
s M ball position &
Pal

N thread

Q

N thread

Standard
shape

Special shape
add WR to description)
(when ordering the valve

Valve Face To Face sizes are according to Habonim catalog data only, for Extended-weald/Flanged/Tri-clamp end see Face To Face sizes page.

».
O ba
A

7

[ mm  50.80172.60 72.60 77.20115.80190.00147.00 13.90 - 1650 - | 256.00 9200 5000 2500 208

inch 200 680 286 304 456 748 579 055 - M20:2.5 065 - = 1008 Mizo 3620 197 5510 241
SINENN mm| 63.75224.00 83.30 70.00144.90 2150018500 1890 1590  17.14» 1660 22.70 402.00 14000 60.00 3900 300

inch 251 882 328 276 570 846 728 074 062 UNS 065 089 1583 MIOx12 551 236 8598 348
») K mm  82.701268.00108.80 90.00/160.70250.00201.001 1890 1590 1714 1660 22.70 610.00 15000 7000 6400 615
4 inch 326 1055 428 354 633 984 791 074 062 UNS 065 089 2402 W02 591 276 14110 713
o)\l mm| 114.00 336.00146.10120.00226.30 295.00 280.00 2850 2380 115"12" | 2620 3520 916.00 M16X1814o.oo 66.00 12000 872
6 inch 449 1323 557 472 891 1161 1102 112 094 UNF 103 139 3606 551 260 26455 1012
»)\PL1) mm 14440 55860 /178,60 136.00300.7034800 - | 3590 - g 5800 - ] W 17000 96.00 22500 1552

inch 569 2199 703 535 1184 1370 - 141 - | UN2A 1 998 - - 669 378 49604 1800

124 | (BDHABONIM | HIGH PRESSURE VALVES




214"-8" | DN65-DN200 | CLASS 1500 IIII

High Pressure Floating Ball 3 Piece

Components & materials

14 16 14B 17

Material specification

Qty.

Body Acc. Ordering Code 1 Slide bearing S. Steel 1
End Acc. Ordering Code 2 Stem mut S. Steel 1
Ball Acc. Ordering Code 1 Tab lock washer S. Steel 1
Stem Acc. Ordering Code 1 Handle S. Steel 1
Seat Acc. Ordering Code 2 Stop plate S. Steel 1
Support ring S. Steel 1 Wrench head S. Steel 1
Inner seal Acc. Ordering Code 2 Wrench bolt S. Steel 1
Outer Seal Acc. Ordering Code 2 Sleeve PVC 1
Stem thrust seal PEEK, CF PEEK, PCTFE 1 Body bolt S. Steel 16-28
Anti-abrasion ring PEEK, CF PEEK, PCTFE 1 Anti static spring S. Steel 2
Stop pin S. Steel 1 Anti static plunger S. Steel 2
Stem seal CF PTFE, TFM 1 Tag (not shown) S. Steel 1
Follower S. Steel 1 * Repair kit components

Description

Material specification

Qty.

HIGH PRESSURE VALVES | ¢(E)HABONIM | 125




([ N
[ ]
High Pressure Floating Ball 3 Piece - Ordering Code System

"Mandatory option" options are marked with |gréenbackground | "Standard offer" options are marked with light green background

13 14 15 16 17 1819 20 21 222324 25 26 27 28 3

2
|-[e e ][ 6 1 m J[w J[ 7 ][ c |/[sIw[I[]-
(NI NG A D D D Y Y NG

Series Body/Ends material Jf Ball material {§ Stem material | Seat material [l Inner Seal |l Outer Seal End Connection Special features

o

End connections (19-22)

Stem material (14)
High Strength S. Steel Welded Ends
Inconel 718 B637 SwW Socket weld ends
Monel BW80 buttweld ends (sch80)
Alloy-C22 B574 CANALESS buttweld ends (sch160)

. »CANEDEE Extended buttweld ends (sch80)
Body/Ends material (11-12) Duplex A479 YCAUALUR Extended buttweld ends (sch160)
5. Steel 316L Super Duplex A479 ) CALERS Extended buttweld ends (sch XXS)
C. steel A105 Seat material (15) XSw Extended socket weld ends
Inconel 718 B637 PVDE

Threaded Ends
Monel CF PEEK NPT

ASME B1.20.1 -
Alloy-20 A351 CN7M : National Pipe Taper thread
Delrin BSPT EN 10226 - Pipe Taper thread
Alloy-C22 B574 Virgin PEEK BSpD 150228-1, DIN3852 -
Duplex PCTFE Pipe Parallel thread
. DI\ kP DIN3852 - Pipe Parallel thread
Hybrid seat

Lol AS 5202 on-face gasket sealing
threaded connection

Flanged RF
ELLR ANSI B16.5 #1500 RF
PL ANSI B16.5 #2500 RF
EELNEY EN1092 PN160, FTF F3
Expanded graphite PENEEY EN1092 PN250, FTF F3
Outer Seal Material (17) EPIREY EN1092 PN320, FTF F3
Expanded graphite WTONES EN1092 PN40O, FTF F3

PTFE Flanged RTJ
TEODLREM ANSIB16.5 #1500 RTJ
PLLL:00 ANSI B16.5 #2500 RT)
Flanged SAE J518 /1SO 6162 Threaded

Series (7-8)
Design (9)

Super Duplex
254SMO
C.steel LF2

Features (3-6)

Inner Seal Material (16)
NBR

PTFE

Viton

MWV XOSsS>NNMOO

Fire safe

Ball material (13) 4"-34"

|/ High Strength S. Steel
Ball material (13) 1" and up

5 S Steel 3161

High Strength S. Steel
Inconel 718 B637

Monel

Alloy-20 A351 CN7M

Alloy-C22 B574

Full port

Clean assembly for
O2 service
Hydrogen Service

Viton
NBR

wx o s >NNZ

Duplex A479 AL Code 61/1S0 6162-1 Flat face
Super Duplex A479 SISO Code 62/1SO 6162-2 Flat face
254SMO A479 * St. Port only

Special Features (24-30)

Ball with upstream pressure relief
hole

Valve Special Stem Seals

Hybrid Seats (24-27)
24 25 27

Insert material Upstream / Downstream Seal Type

& CF PEEK .
\\'f PVDF
& PCTFE

89 Virgin PEEK B

High Cycle service

U+NBR+graphite
U+Viton+graphite
U+NBR

U+Viton

Hybrid seats on upstream and
downstream, spring loaded

Hybrid seats on upstream and
downstream

HIGH PRESSURE VALVES | ¢ E)HABONIM | 127




